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General Instructions:

1. The question paper comprises Six Sections — A, B, C, D, E and F. There are 37 questions in
the Question paper. All questions are compulsory.

2. Section A — From questions 1 to 20 are MCQs of 1 mark each.

3. Section B — Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2 marks
each. Answer to each question should not exceed 40 words.

4. Section C contains Q.25to Q.29 are Short Answer Type Questions, carrying 3 marks each.
Answer to each question should not exceed 60 words.

5. Section D — Question no. 30 to 33 are long answer type questions, carrying 5 marks each.
Answer to each question should not exceed 120 words.

6. Section-E - Questions no from 34 to 36 are case based questions with three sub questions
and are of 4 marks each. Answer to each question should not exceed 100 words.

7. Section F — Question no. 37 is map based, carrying 5 marks with two parts, 37a from History
(2 marks) and 37b from Geography (3 marks).

8. There is no overall choice in the question paper. However, an internal choice has been
provided in few guestions. Only one of the choices in such guestions must be attempted.
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SECTION A
MCQs (20x1=20)

1. Study the picture and answer the question that follows:
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Which of the following aspects best suits the ‘sword’ in the image?
A. Heroism

B. Symbol of Strength

C. Readiness to Fight

D. Symbol of freedom
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2. Arrange the following events related to the Formation of Britain as a nation, in chronological
order.
(i) The Act of Union between England and Scotland

(i) The English parliament, which had seized power from the monarchy

(ii

i)  Ireland was forcibly incorporated into the United Kingdom

(iv)  Catholic revolts against British dominance
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0P 2ASE P =Y I fSicol b sIcel A Adferd fordolfctRa dcoll3ll Bl DICIofcbdId tbd 3

RIAf¥erd o2l

(i) 3ocis 3l Tpiccis & dia Ja o1 sifrforRmet

(ii) 3ierstl 331G, foTTor JrsTondt 3 e o off oft

(iii) SIRIICIS DI Slaol Aollscs [dhorsa 3 9lfdiet D2 eI oI
(iv) fsifeor usea & g dellfer fgls
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3. Identify the incorrect statement in the context of the Non - Cooperation Movement?

Gandhi Ji was the main force behind the non - cooperation movement.

The council elections were boycotted even by the Justice Party of Madras

The movement aimed to involve people from all sections of society.

Thousands of students left government - controlled schools; headmasters and teachers
resigned; lawyers gave up their practice.

Cow>

3. 3RIGAIeI 3liGIcTol b IAdGH I SIcTd Dol Dl UsdIol?

A. oiefl St sr1g=ieT stiGlctol & Uiey gpac 9Iftp &l

B. g &l Sifdet urdt gri it ufdug Joirdl o1 afdtdrR foben srIr &

C. 331 3IIGICTol I 32,9%1 AAISI b st goit &b clloll oI INfIreT 2ol el

D. &SIRI faenfefil of A Rl- forifBa Fac 8IS 21, Uerroiearadm 3ii2 {91811 of s3ciiwr
& fo=m; adbleil of sruefl Tifdrest sis ¢l

4. The Roman Church begin to maintain an Index of Prohibited Books from 1558. Select the
possible reason:

A

B
C.
D.

Interference of foreign writers.

Giving too many independent beliefs to people through books.
Troubled by such effects of popular readings and questionings of faith.
Writing and printing of heretical beliefs.

4. Aol Td of 1558 A BIRLg YADI DI D AADID Folle Aol YR b Hamfde

BIIV] DI Aol DI

A. fageft creaml o1 ssiul
B. U3 & AT A clloll Dl dgd 3ifeid Iad> faeart ol
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C. CIIDBIURI UIsa 3112 3T & UsGil b VA Ueiral 3 UL9llal|
D. fqeraff Airo=IAIsN I ol Bd vl
In 1517, the religious reformer Martin Luther wrote Ninety-Five Theses, criticising many of
the practices and rituals of the Roman Catholic Church, what was its outcome?
I. They were ignored by the church.
ii. Printed copy of this was posted on a church door in Wittenberg. It challenged the
Church to debate his ideas.
iii. Luther’s writings were immediately reproduced in vast numbers and read widely.
iv. This lead to a division within the Church and to the beginning of the Protestant
Reformation. Luther’s translation of the New Testament sold 5,000 copies within a few

weeks.
A. ionly
B. iandii
C. All of the above
D. ii, iiiand iv

5. 1517 3 enfdied JURD AIfEal R of Aol Dlfetd Tl Dbl os uensil 3R 3fofsoreil df
3IICIIoll DI BT 95

fi3131 ferdl, s31apT ufdume oIt eI

i. T GIRI 3olchl Ut bl 313)

ii. 31bl FfeeT ufer fcoeast b v ad S Gdrel U oIS 31S 2l 5ol ad I Joid fdamRt

U2 g8 Dol Dl ol Sl

iii.CI2R P cI¥T6l DI 3 SIS AT 3 Yol: Ul fob=l SRII 311 ATUD 34 3 UeI Sl

iv.33R1 T O sfieaR fAstrstor 331 3l UIece LR Dl 9RS3IA 31 o=l ICHIC D TILR D

3roldIq bl P &t Ul 91 5,000 UleRII fei 13|

A. (i) ad B. (i) 3112 (ii)

C. 3D st D. ii, iii 3R iv

Assertion (A) : India has varied relief features, land forms, climatic realms and vegetation
types.

Reason (R) : These have been deposited by three important Himalayan river systems — the
Indus, the Ganga and the Brahmaputra.
A. (Both (A) and R) are true and (R ) is the correct explanation of (A)
B. (Both (A) &R ) are true but (R) is not the correct explanation of(A)
C. (A)is correct but (R ) is wrong.
D. (A) iswrong but (R )is correct
6. GIAI (Q): 8111 31 ffdcof & faduare, 81f3r %u, STcIary 8171 312 dofufcl UdKR 8l
PRYI (3R): 508 dlol Ascayul Bareril oict uonferil - Rigy, sion 3k g1y gRI
STeT fope oI 3
A. ((A) 3TIZ R Glall) AT 8 31 (R) (A) BT A8t Iustiasur 8
B. (Gloil () 3iIR 3IR) A= 3 Alfdbol (3IR) (V) I Ad! Tus i1 oldl 3
C. (©) A8l 3 cifdbdl (3IR) 3IcId 3l
D. () 3Icid & cifdbal (3IR) A8t 3



7.
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“P” gave his friends clues about a type of forest which is almost one third of the total forest
area. Which of the following clues provided by “P” would be most useful in identifying the
ideal type of forest?

Clue I: These forest land protected from any other depletion.

Clue II: All North Eastern states and parts of Gujarat have a very high percentage of these
forests.

A. Clue |

B. Clue Il

C. Both clue I and clue Il

D. None of the above

7. "dl" oI 3ol Gl DI TP UDR P Sivlel O d12 3 IR SR Sl el Tol 85T DI Tl
o ferars 8l "dl" gRI Uciel fepe1r sRI foreotfeiRad 31 3 dlol AT IRGI Siolel B MGl UDPR
bl usTiol Dol 3 A IU=AIsil BloIr?

IR 1: 3 ot 9131 fept oft sreer oot 3 3Rf8IA 3

JRIEI 11: 18ft 3712 ud 2rseil 3l1R S[elRIA & e (822l 31 561 doll DI UleI9I dge 31D 3
A.3REI ]

dft. JRmer fediar

C. W 1 3R IREI 11 Sloll

D. 3WRID 3 A DIS oIl

Consider the statements given below and choose the correct answer.

Statement I- In India Joint Forest Management (JFM) programme furnishes a good example
for involving local communities in the management and restoration of degraded forests.

Statement 11- The state of Odisha passed the first resolution for Joint Forest Management.

Statement (I) is correct and statement (1) is incorrect.
Statement (I) is incorrect and statement (1) is correct.
Both statement (1) and (1) are incorrect.

Both statement (1) and (11) are correct
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8. offcl fu 318 Dol U= AR ®2 312 A8l 3R ol

o] I- 3111 31 YD dol UdEIol (SIeWbed) DIRIh# AId doil b Udieol 3112 sialcil 3 Zerrofter
AHAGIEIL DI IMf3ICT B2ol b feT8 Ub 3ITBI IGIE0T U3 DI &

Dol 11- ISl AR of YD ol Usielol D 18 Ugell UIdrd U3 =

A. DI (1) A8t 3 3i? Deral (11) d1eId 3l

B. @eIal (1) 31T 8 3i1? derol (11) A&t 3

C. Gloli @erdl (1) 312 (1) 3IcTd 3l

D. Glail @eral (1) 3112 (1) 32t 3l




9. Match List I (forms of power sharing) with List 1l (forms of government):

List I List I

1 Power shared among different organs of | A. Community government
government

2 Power shared among governments at | B. Separation of powers
different levels

3 Power shared by different social groups C. Coalition government

4 Power shared by two or more political | D. Federal government
parties

9. Al 1 (A ABIGREL D 3U) DI AL 1T (FRPR D ) D Arel IYAfeTd o3

At 1 At 11
1 IRPR b [dfdroot il b i o1fep I dedrr A. AGIRID IXDR
2 fdfdrool FARI U2 IRPDRI b dia 91feh ®I deart B. 9Iftpeil Bl YeIad0T
3 fdfdroot ISP ST GRI ATSH D 9IS 9Ifth C. SIoHtIol JRDR
4 GI I Gl A 3t AsToliieid el gIRI AT i oIS 9IiRp | 1. IRl IDR

10. Consider the following statements about power sharing arrangements in Belgium and Sri
Lanka.

A. In Belgium, the Dutch-speaking majority people tried to impose their domination on the
minority French-speaking community.
B. In Sri Lanka, the policies of the government sought to ensure the dominance of the Sinhala
speaking majority.
C. The Tamils in Sri Lanka demanded a federal arrangement of power sharing to protect their
culture, language and equality of opportunity in education and jobs.
D. The transformation of Belgium from unitary government to a federal one prevented a
possible division of the country on linguistic lines.
Which of the statements given above are correct?

A. A/ B,CandD

B. A,BandD

C. CandD

D. B,Cand D

10. dfeSRIA 312 Uil d Al ABIGIRT RIaedl D |12 3 forForfctRad deleil u2 faarR b2

3. dfcore 3 sa Al SgARRID bl of ICURSID P Ml AHSRI U 3[Uoll Udled ol
DI URIRA fdpe

dt. eficiopt 31, IRPR b oftferil o1 359 Riact 1l agera o1 usira ot wor el

C. ¢iciopt 31 Afdrell of suofl APpier, o1rar 312 {9181 3l Gl 3 3[R b Adrolcr bl
281 & fe1e A 3 HelicRl bl v i saazer i #isr bl

D. IfCSRIA b UbIeaAdD AIDIR A AT A3b1R 91 uf¥aciol of IS 3IIENR U= GoI b JAsifaa
faetrSTor Bl b {5




U2 {&U o1e derell 3 3 Dlol Al S 82

A. g, dl, 2t 3fiz St

B. U, &l 3R St

c. 3 sz St

D. dfi, 2t 3fiz St
11. Consider the following statements on the practice of federalism in India.
Identify those Which hold true for decentralisation after 1992.

i.Local governments did not have any power or resources of their own.

ii.It became constitutionally mandatory to hold regular elections to local government
bodies.

iii.The state governments are required to share some powers and revenue with local
Government bodies.

iv.No seats are reserved in the elected bodies for scheduled castes, scheduled tribes and
Other backward classes

A. iiandiii
B. iandiii
C. iandiv
D. iiandiv

11. 81> 31 2adrg bl el U3 forForfe1Rad dvereil Uz fadn @3l 3ol cllsll bl uadlol B2 Sil
1992 & a6 fAdb il & fere 318l 3l

(i) TeITofl=I PRI I UIRT 3[Uoil BIS 9Ifeh AT JHATeral oIal

(i) Zelofler IR forprll & fere forifdr golia wrell Adentoid U A 3iferdar 8

STRII|
(iii) IS IRDRI DI FATo{R] FRDR foIdRIl B AT P I bRl iR AT AT
DG AP 3l
(iv) foratfere forarRl 3 srolRIfer Sifet, foRIf<IA Slofsifel 312 3lovI [Uess aolf &
fero @18 i smefdia ordt &

A. ii 3112 iii B. i3liTiii C.idlRiv D.iisliRiv

12. Assertion (A): The Indian government opted for the ideal of secularism in the Indian society.
Reason (R): The Indian government was aware that religious unity was important for the
development of the nation.

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true but R is not the correct of explanation of A.
C. Aistrue, but R is False.

D. Aisfalseand R is True.

12. SIdI (V): $1>¢1 JRDIR of AR {1 TSI 3 iforRUSIAr B 31169l I Jolll PRUI (3R): R
IRPDR Sioldl &ff fb 2reg & fdprRt & fere enfdia wadar ascaqui eff|

A. A 3R R Gloll A=A 8 3R R, A & 31 == 3

B. A 312 R Gloil 3 3 cifdbol A bt careeIn o fe1e R A&l odl 3l




C. A AT 3, cifdool R SICI 3l
D. A 3Icid 8 312 R I 3l

13. Give the meaning of ‘Alliance’.
A. Two parties together form the government.
B. Leftist and Rightist together form the government.
C. When state and national parties together form the government.
D. When several parties in a multiparty system join for the purpose of contesting elections
and winning power.

13. 'STodeIor I 31ef Terssll

A. Sl Ui RT3 IRPR dolledl B. areuelt 3z cfdmelt et JRdR
ol 3
C. SIel 2 311 AR Gel HeId IRPR W6l 81 - D. Sid dgaettal Yuliedl 3 s et golla

CTSol 3112 AT BIRICT ol B 359 A et B 3
14. The given image shows the effect of democratic politics on social differences.

Which options are more appropriate in context of democracy?
A. Democracy suppresses internal social differences.
B. Democracies lead to peaceful and harmonious life among Citizens.
C. Democracies accommodate various social divisions.
D. OptionBand C

14. &t o1 B ATAISID AANSI U2 ADAIDID AsTotticl b U bl GoIteil 3

A. ST ARD AP AANST DI eI 3l
B. elld>d! olle1i¥a] & e griferqui sfiz Amsisre=qui Sfidet ol olded w2l 3
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C. el fdfdreol ARSI fAsTIGTol Dl JRNISIA BT 3
D. fdocu dt siiz 3t

15. Choose the correct statement.

A

B.

C.

D.

15.

Monarchy stands much superior to any other form of government for promoting dignity
and freedom of the individual.

Dictatorship stands much superior to any other form of government for promoting
dignity and freedom of the individual.

Democracy stands much superior to any other form of government for promoting
dignity and freedom of the leaders.

Democracy stands much superior to any other form of government for promoting
dignity and freedom of the individual.

318l werel ol

A. Ifep b1 o131 312 Iad>IAI Bl dGIAI Gol d AT 9 AsIona! fapl st sioer udR
bl AIPIR 3 Bl I3 3l

B. cifep bl s1f3411 317 JadsIAI ol 1Al Gol o fe1u drelensd! IReR & b=t sft
316%] U A Dol daa2 al

C. ofc13il bl o1f3d1I 3T IAA>IAI bl IBIAI Gol b HIdHCI ol cllabe fab2il off 3[e=l UbR
I IPR A B8l dad2 3l

D. &Ifep bl SI¥AT 317 TAd>IAI DI dGIAl Gol i HIHCT A clbdsl [l i 31o1 U
I IPR A B8l dad2 3l

16. The picture below represents which of the following ideas?

COUNTRY WITH RICH AND POOR

A. Equal distribution of national income in the country.
B. Population density of a country.

C. Unequal distribution of national income in the country.
D. All of the above.



16. ofi<I &t o138 axdiz forgatfeiRaa 3 2 fopt faanz o1 ufciforféra it 32
COUNTRY WITH RICH AND POOR

oy i

[ 00 D016 0 Lo

A. S9I 31 SR 31IRI BT AeATol farea=un|
B. fep2ft Sor T SIerizeRI Holcdl

C. 39T 31 IR 3MIRT T 3RIdIGT fAa2un|
D. 3WRID 13l

17. In a village, 200 families are living. 65 families work on their own piece of land, 80 families
work on the field of other farmers, 15 families run their own shops and 40 families work in a
nearby factory to earn their livelihood. What percentage of villagers depend on the secondary
sector?

35

40

25

20

17. B 3ifd 3 200 UR¥AR 35 31 65 UfdR 3iucll Sefiel B TPs U2 DE B 3, 80 URAR
G212 fopatroll & A 3 D1 DA 8, 15 ularR 3iucil goblol delid & 3l 40 uf¥are sruofl
asfifdasT wdrol B fore urt 6t v bact 3 ot w2 & fabdot ufererd ammsfiur fgdiere g1
uz forste 32

Cow>»

A.35 B. 40 C.25 D. 20

18. ldentify the main source of income of a bank:

A. Bank charges that the depositors pay for keeping their money safe is the main source
of the bank’s income.

B. The difference between what is charged from the borrowers and paid to the depositors
is the main source of bank’s income.

C. Banks earn huge amounts of money by investing the money of the depositors in various
company shares.

D. The Government of India gives huge amounts of money to the banks to help their
smooth functioning.

10



19.

18. dop bl 3IRI D I Hlel Dl ysdlol D2
A. 85 T Y Sil STHTDAT 3ol T T Y181 3dol & fe1e forcrol w2 & a8 db &I 3T
DI IR A 3
B. SURDALN A Sil Y[ ferr SiIel 8 3iIR SIHID L3I @l foIelol fabl SiIel 8, 33D sfier I
3R dp D 3R DT IR Al 3
C. db SIATDAI3I o U2 bl fdfdreol duUoil IRRI 3 fordol I TS A 3 UM DAL B
D. IR MRDR dDI DI 361 IAURS DIHDISL 3 AGS P [e18 ISt ABI 3 ol Sedt 3
Evaluate the impact of opening foreign trade on the global economy by identifying the
appropriate statements among the following options:

i.  The choice of goods in the markets increase.

ii.  Producer from two countries closely compete against each other despite the distance

between their locations.
iii.  Foreign trade thus results in connecting the markets or integration of markets in

different countries.
iv.  The quality of the product is always good.

Statements i and ii are appropriate.
Statements i, ii and iii are appropriate.
All the statements are appropriate.
Only statement iv is appropriate.

Cow>

N OO\ O

19. fotgotfetRa fdamcul 3t A 3ued deloil bl usrel B Affad sreloaazen U2 Acl fadgeft
AR P YA DI FICATDo] D2

[

i. ISR 31 a3l bl WRic 46 Il 3|

ii. G1 Soll P foraAiar sruol Ferroll & dia &l g3t & dIasls vd-GAX D Racw dst
uferzuert o 3

iii. 33 U faceft samurz &b uf¥vmarzazu fafdoot oIl B TG DI SUST ST & =T
ISR T BebIdp2uI {ep=t ST 3

iv.3cUIG bl VAT B9l 3Iced] Bledl 8.

A. 6l 1 312 11 3w 3l B. @0l i, ii 3112 iii SWP 3l

C. 39t peret 3R 3l D. del Dl iv SUYED 3

20. Which of the following factors significantly contribute to the process of globalisation? Select

Cow>

the correct options.

1. Expansion of Multinational Corporations (MNCs).

2. Advancements in information and communication technology.
3. Nationalisation and trade barriers.

4. Cross-border movement of people for jobs and education.

Options:

Statements 1 and 2 are correct.
Statements 1, 2 and 3 are correct.
Statements 2, 3 and 4 are correct.
Only statement 3 is incorrect.

11



21.

22,

23.

21. forFotferRan 9 3 il A PRD dedicpur bt ufcpRrr i Ascayui ABIGIe! ST 8? Adt
fd®cu gol.

1. ag2reci forordl (wawortl) o fazar

2. J[cIoll ©d AR Ulenf3rdbl 31 usifel

3. IMCRIHU] 3113 IR rems|

4. olicpfeel 312 91811 b 1w clisll ob1 e UIR siamereiall

faoeu:
A. Dl 1 313 2 IWD 3| B. el 1, 2 32 3 3uI<D 3
C. D61 2, 3 31 4 IUATD & D. Idel Dol 3 IWID &

SECTION B
VERY SHORT ANSWER QUESTION (4x2=8)

(A):‘The silk routes are a good example of vibrant pre -modern trade and cultural links

between distant parts of the world. ’Substantiate the statement with illustrations.
OR

(B): "New crops can significantly impact survival and well-being." Provide evidence to
support this statement.

21. (9):' 39191 #151 Gforalr b G2-Grel & &=l & dffa Sfidd yd-siregforcs cemur siiz Az dpicrs
Adel] DT UD 3B 361821 3 'R Afdd el Dl gfte DHifdrul
A1

(alh): "o1S Watcl 313 3l DIl U2 #Erayui UsId STcl Adbdl 31" $A dDelol DI Aol

. N WY e ¥

D0l b 18 ATE=T UTol D2

Mr. Swamy is from Tamil Nadu, wishes to cultivate either Tea or Wheat. Which one of the
crops out of the two can he cultivate in his state? Substantiate your answer with any two
reasons.

22. dfdictolts & ¢t Fafl, arr A1 d1g bl Al Dol arsd 31 a8 Gloil 3 A D WA Ul
IR 3 3911 AhdI 82 R1g o 31U 30 fdbedl I BrRull Afadl

“Power sharing is a system of checks and balances.” Justify this statement with valid points.

23. "l bl ALIeRY S 3112 Adctol bl v uvictl 81" 531 derol Y 3R feogail Afda
YOI BRI
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24,

25.

26.

27,

28.

“India is a union of states. “Contrast a federal system of government with a unitary set-up with
examples.

24, "9T1¥c1 USRI DI U A 31" IGI820I ATS UDIcIHD RIaell dictl IEfRI J3B12 vtrett b
dcloll D3|

SECTION C
SHORT ANSWER-BASED QUESTIONS (5x3=15)

Give reason for the following:

(a)Martin Luther was in favour of print and spoke out in praise of it.

(b)Wood block print only came to Europe after 1295.

(c)Gandhi said the fight for Swaraj is a fight for the liberty of speech, liberty of the press, and
freedom of association.

25. fotFotfc13ad I DIRUI dAISU:

() 1ol CIeIR HGuI b UsT 3 & 3iI3 $ADI URI B Al

(dheToSt I seifcp flie 1295 P dic 8l A4 3 31l

() s1ielt or el b FarTar bl SIS SifdrRIfp I IadsIdn, U b Fadsiar siiz Ja ot
Tad>Id1 bl oISTS 3l

“Agriculture gives boost to the industrial sector’. Justify the statement with

any three relevant points.
OR

“Infrastructure is the growth engine of the economy.” List the factors which have hindered the
pace of agricultural development in India?

26. "D TSI 1 Pl dGIal Seit 81' ot i 3iferea RBrg bifste, IS diel urRifdrm fdg

Al
"giSRIICT GIcl SrelRIazell Pl fddIRI $otol 31 301 PRPI bl Aci Jollv fSTogiol e 3 DY
R o s1fet DI anferd fipem 82

“Gender division is not based on Biology but on social expectations and stereotypes.” Support
the statement.

27. "fe1er1 fdstrstol Sfia fdster U odl afcd Ao SMsnsl 3R Sl U2 sment3d al"
Dol DI Adelol D2,

The tertiary sector, also known as the service sector, contributed 53% to India's GDP in 2021-
22. Tertiary sector has emerged as the largest producing sector in India in the last 40 years.
Why do you think tertiary sector has become so popular in India? Support your answer giving
any 3 reasons.

28. eIl 811, fSRY At 811 8t sl SIIel &, of 2021-22 3 1R bt SiiSidl 3 53% ATl
fe=m etiRre &1 fieet 40 auif 3 91 3 AT TST IFUIGD 8151 JoIb3 IIRA 3| 3MUD SRR
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29.

30.

31.

32.

IclRID 8151 $11>¢1 91 Sefoll D IURI TRIl 81 SRII 82 DIS rilol BRI DR 3MUol IrIR DI Adtelol
D3

With the example of sugarcane, explain the interdependence of all the three sectors of the
economy.

29. 3[col b IGIBII A eIRAIe b diall 831 bl UIUR folsiadr ol IeISISq]
SECTION D

LONG ANSWER-BASED QUESTIONS (4X5=20)

(A): How would you evaluate Napoleon as an administrator who created a more rational and
efficient system? Elucidate with suitable examples.

OR
(B): Analyse the decisions taken by the conservatives at the Congress of Vienna in the year

1815.

30. (¥): 3IU UPD UIIRID b U 3 olUlfcRIol Pl FcAIdol 29I foRIal 3ifér ddbeIa
31T oI UvIictl Joll$? IUYTh 3182Vl Afsd Fuse Hifsme

AT
(cfh): adt 1815 9 fARIG DISIT 3 diGaricRll grRI fe1u s1e foruii oI faeesuur B3
(A): A farmer has borrowed money from a money lender at a high rate of interest, as he could
not pay the interest, he was forced to borrow from another landlord to settle the amount for the
interest borrowed to the moneylender. State the consequences he may face in this situation.

OR

(B): “Self —help groups eliminates poverty and empowers women”. Substantiate with suitable
answer.

31. (8): D [CpATel of Bh ABDIR A I TSI 62 U2 UAI IUR feR11 &, qilfch a8 SRIrsTt DI
§oIcIlol old] D2 ADI, 33 ABDR A IR fe1e s1e sarst &I AfdI BT foructor B0l & fere
G212 SR 3 3eR ol & fere ASIg Bloft usTl adie fob $31 f3erfer 31 33 fabor ufumadl o1
oIl B US ADI 3l

NI

(&h): "Ta= ABRIAI g s3Il DY Acdt D 8 IR AL D AR Tolll 8"l IUTD (1R
P A1 Yfte o3
(A) Political parties are a necessary condition for a democracy.” Analyse the statement with

relevant points.
OR

(B) "Political parties today face several challenges that impact their democratic functioning.”
Justify this statement.
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33.

34.

32. (|) el & fre AsTollfeids Get v siraead ord 8| urifsias figail o irer delol a1
farecsyur a3
NIl

(dh) "2rsteiifcra Gell @l 3iel D3 Joilicl PI Aol Dol TSI 8 Sil Jold cllddibID
DIHADIS DI YHIAA Dl 31" $A Dol DI 3iifree RBrg bifsrol

(A): List the major factors which affect the location of an industry at a place. What is the key
to the decision of ‘factory location’?

OR
(B): “Industrialisation and urbanisation go hand in hand.” Explain.
33. (©): 3ol UFRA DRI bI At Tolre Sil fopil Ferrel uz 3eist bl erfer bl usnidd w2 3
et Ferrol' & o1uRI b Pofl o= 8?2
AT
(&h): "sitenefiapvr 3T IEIa2uT ATI-3ATel TACK 31" IR DGl

SECTION E
CASE-BASED QUESTIONS (3X4=12)

Read the passage given below and answer the questions:

The sense of collective belonging came partly through the experience of united struggles. But
there were also a variety of cultural processes through which nationalism captured people’s
imagination. History and fiction, folklore and songs, popular prints and symbols, all played a
part in the making of nationalism. The identity of the nation is most often symbolised in a
figure or image. This helps create an image with which people can identify the nation. It was
in the twentieth century, with the growth of nationalism, that the identity of India came to be
visually associated with the image of Bharat Mata. The image was first created by Bankim
Chandra Chattopadhyay. In the 1870s he wrote ‘VandeMataram’ as a hymn to the motherland.
Later it was included in his novel Anandamath and widely sung during the Swadeshi 21 |Pag
e movement in Bengal. Moved by the Swadeshi movement, Abanindranath Tagore painted his
famous image of Bharat Mata. In this painting Bharat Mata is portrayed as an ascetic figure;
she is calm, composed, divine and spiritual.

Answer the followings questions. 1+1+2

(i) Which hymn to the mother land was widely sung during Swadesh movements in
Bengal? 2

(ii) How did the identity of India symbolise in a figure or image?

(iii) How did people of different communities, regions or language develop a sense of
collective belonging?
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35.

34. offd f&u s1u sLerol B U 3R U6l &b 3R &
AWIBD 3MUoiucl bl #Midoll JMIfIId U A Tl ATl &b 3fofdId A 313l cifdsol fafdoor
ARPicrd ulchard oft off fSo1db 1Tt A Accars ol cilsll bl dedoll U2 dosll B2 el
sicIarA 3112 el Alfdeet, elidvaild 3ii2 i, el iUl ftie 31z udic, 18l of 2recalg o foraior
31 91{3rep1 foremrs) Auce b usael SIaR fop=dt snepier & sfd 3 usisia o Sl 81 3R v
U2t sfd detrol 3 s et 2 SRR el 21e¢ ot uadIel B2 Ach| il At 3, 2recars &
A1 & 2L, 81131 bl usdIol 911 HIAI bl Bid b el fSeald 3u A Ssol el As Bid
AR Usc! dichal e TSIUIERIRI of Joirs &ffl 1870 P G9Id 3 Ioalol AL D feTe b 9sTol
® U A dGHANTRHA Rl |16 3 531 361 IUGRIRA MI6iGHS i IfdTeT febar rRIT 3112 Fagoft
21 b GITol —ATUD U A SIIRII SR solrcd A Ui © St $ siigictol. Tagofl siiciciol 21 Uf¥d aldb3,
idofigoirel ¢oll3 of ST HAIAI bl 31Ut ul3rg afd RIfB1a &bl 331 UfdsI 3 81> AT DI O

N N o

Auxdi sfd &b U 31 RIBIA o= R 3; a8 91id, IR, i 3R eIt 3l

forgoifctRad usell o 3R Sifore. 1+1+2

(i) Sotret 31 Facofl sticicToll P GlIol ARSI D éTe Dlol AT $TSTel RIUD FU A SR IRIT
ar 2

(ii) 31 b} uscrel it srpler a1 Bid 7 HA Usiold gs?
(iii) faf9root AR, Sl AT HTUI P clIsll 3 AWIBD 3UolUol bt HIdoll DA f[ADPRIA 83?2

Read the following passage and answer the questions:

Many thought that given the disadvantages and rising resistance against the multi-purpose
projects, water harvesting system was a viable alternative, both socio-economically and
environmentally. In ancient India, along with the sophisticated hydraulic structures, there
existed an extraordinary tradition of water harvesting system. People had in-depth knowledge
of rainfall regimes and soil types and developed wide ranging techniques to harvest rainwater,
groundwater, river water and flood water in keeping with the local ecological conditions and
their water needs. In hill and mountainous regions, people built diversion channels like the
‘guls’ or ‘kuls’ of the Western Himalayas for agriculture. ‘Rooftop rainwater harvesting’ was
commonly practised to store drinking water, particularly in Rajasthan. In the flood plains of
Bengal, people developed inundation channels to irrigate their fields. In arid and semi-arid
regions, agricultural fields were converted into rain fed storage structures that allowed the
water to stand and moisten the soil like the ‘Khadins’ in Jaisalmer and ‘Johads’ in other parts
of Rajasthan.

Answer the followings questions. 1+1+2
i. Why is water harvesting system a viable alternative?
ii. Describe the process of ‘rooftop rainwater harvesting’?
iii. Mention any two methods adopted by ancient India for water conservation.
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36.

35. forgatfcl3aa sreriol @l ug 312 Uil b IR &

@3 clldll of Al [ dg3g 9l ufSIISTonsil & ofd=lol 3I12 3olb RAcw sa UleRIer oI
S BB, SIcT crlol Uulictt ARMfSTD-3feie i wiiauiir Siell 8t zftc 3 vd =IasrR!
fdeu 81 urcilor $r3e 9, uf¥tpd sIsglieid A3 b ATe-AT1, SIel Aol Uullcil bl
U SRARIRUI UURI #HlSIG &fil cilsil ol aui caazen 3l f3gl & UdRI @I s1gdl Silol oI i
3oalol Felmofte urif¥erfea Referil iz 3oichl SIct SMa9ADAISI DI €lol 3 1Al BE aui
SIct, 81SIcT, oIt SIcT 3112 €Ie SIcT Aol P fe18 RIud Aol [ R ol usrst sl uddi=r
81511 31, ol of Pt P fere ufeell fEaArerRr B 's[et AT 'Pet 51 SRITSId! dole] dollv] [AINdm
Izl 3 Ulol &b Uroft I Js1fad ol d 10 MMHAIR U2 'l U2 auli Siet JTRIoT DI 319010
BRI SIIAT 2Tl §eTIcT b dIG b dGIoll 41, clldll of 3ol Al b} R3S &b fe1u Siciteirdol dolc
fdRia ful gvd 3l srel-9read il 31, DI Siil DI aui 3renta TSRUI A6I3ll 3
uf¥afeia o2 e sr, o111 ureft Siem 81 b 3iie 1l ot ofet fob=IT ST 21eh, SiR1 SIIcoNR d
IasIor 313 ISl b 316 3331 3 SliEs|

forgotfe1Rad Useil b 32 Sifore. 1+1+2
i SIcl AdIRIol UVIIchl v RIdaR] fddcu a=il 872
ii. 'l U2 aul SicT JAcRIol’ bl Ufdh=IT abI duiol b2?

o e e W

iii. SIcT A2SIVT b fe1e urchiol 91— GIRI 31UGITS oI5 fdboal ol faféRil I 3ccia a3l

Development and growth are often used interchangeably, however, they represent distinct
facets of progress. Growth primarily pertains to quantitative expansion, such as an
augmentation in GDP, population, or production. It is quantifiable and readily observable.
Conversely, development encompasses a broader range of factors. It encompasses
enhancements in living standards, education, healthcare, and overall well-being. Development
places emphasis on the quality of growth rather than mere quantity. It is possible for a nation
to experience growth without truly developing, resulting in disparities and inequalities.
Consequently, the pursuit of sustainable development is paramount, ensuring not only
economic growth but also social progress, equity, and environmental sustainability. Striking a
balance between growth and development is the ultimate challenge for societies striving for
comprehensive advancement.

Answer the followings questions. 1+1+2

Q) What are the two fundamental principle of development?

(i)  Give an example where a situation is development for one but not for other
(iii)  Is development only calculated in monetary terms

36. fdPrA 311? g I AR Ud G & fe1e IuRIsT fdpell SiIel 8, BIctifdp, d UsIfel P 31cTol-
3111 Usclail @l Ufeifoifeied el 81 [ADRI 3R U A AGICAD AR A Al &, Sl
Al T3 3CUIG, STORIFRIT Al IcUlGol 3 AfGl AS AGICAD 3iIR 3MIAlofl A S0l Aee 3
53D fAuld, fAprRI 3 PrR®! b vb fAda e onfdiet aidt 31 s Sfiaet Fa2, foret,
AT SAAHICT 311 AT DAVl 3 dlg onfdret 8l f[ADRI Daet AGI D ISIRI [ADRT DI
S[UIATI UR SIIR Sl 81 fopit 21ee; & fete arq 3 fdmrRt fope feil fdmrRt @I 3lolsra mol
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Jo1d 3, fORIP URUIPIFa U SRMIGIAI 3113 3RIHATCIAIY Ual Bldl 3] oldisidol, JAdd fdbrRT
I URIIRI JAAiuf 3, il of dbact 3Mfeiap a1 afde Jmenfore usifel, Jereidn 312 u=iiaufizr
Rrerxan sft Jforfaa w2ar 81 carud Iooifel b fere URIRRA asit & fore afy sl f[dort &
dffa Jicctol dotrolt 3ifefd Joildl 3l

forFatfc1Raa ussli & 3R difSe. 1+1+2

(i) frprA & &1 d1e19ret Brgie o 8?

(i) G 35181 SIfSTe S8l ua el v & fere famrt & cifdsol g2 & fere oidl
(iii) TF=IT fIPIA bl S1UTell dbact AllGd TR U2 bl Siicdl 3

SECTION F
MAP SKILL-BASED QUESTION (2+3=5)

37. A. Two places A and B have been marked on the given outline map of India. Identify them
and write their correct names on the lines drawn near them.

A. The place where the Mahatma Gandhi broke the salt law.

B. Indian National congress session was held at this place in 1927.

B. On the same outline map of India locate and label any three of the following with

suitable symbols. (Answer any three of the following.)

i. A software Technology Park in Uttar Pradesh.

ii. Raja Sansi International Airport.

iii. Naraura - Nuclear Power Plant

iv. A largest natural major seaport located at Andhra Pradesh

37. A. > P fSU o180 2UIAT ATGIRIAT U2 G) ZeTal A 32 B 3ifdbd fobu s 8] 3oa usaifore
3112 Jo1ch ur Adidl 318 32131l U2 JoldbI Ad1 ofidt fe1lk3awv)

A. T8 ellol SI81 #ABIcdI S1itfl of o1 DIofol AISI Il
B. HIcAIRT ACCIRI DIl DI 3Mferdorel 1927 3 32t Ferrel U= 33T el
B. 91 & 32t U1 ALGIRPT U= foteotie1Rac 4 A fdposl diol ®l Aol 3l cidet
D3
SUIeD Uciiop| forFotfetiiac 9t A fpodl el I 312 difdrel
i, 3R UGl ¥ v AR asileifslt urdl
i, el ARM iRt 3ars 3rssIl
iii. ORI - UAIV] 301l AR
iv. SIS UGl 3 eI A IST UIpferd U d601s
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